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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10

1st Month, 1st Week, 3rd Day |Sub domain (i) Exercise 1.1 Q#6 to 9
Q.1. Choose the correct options. (1x 4 =4) -Q/';«l‘f:'l(.,«lﬁu/)

(i) How many pieces of 10 meters of wire can be cut from a wire
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(ii) The area of rectangle is 4 cm whose length is 5 cm. What
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will be the width of rectangle?
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(iii) How many pieces of 1 metres of cloth can be cut from a
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cloth which is ? metres long?
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(a) 37 (b) 47 (©) 27 (d) 17

(iv) Komal divides 6.60 kg apples in 2.2. boxes. How many apples
are therein each box?
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Q.2. SOZ kilograms of rice is to be packed equally in 55

kilograms packets. Find: (1x2=2)

(a) How many packets of rice will be packed?
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(b)How much rice will be there in 8 packets of mass 55

kilograms?
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Q.3.To decorate a birthday party, Zara used ribbons of two

2
colours. The length of blue ribbon is 155 metres. The length

of green ribbon is 5 times of the length of blue ribbon.

(a) What is the length of green ribbon?

(b) Find the total length of both the ribbons.
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Q.4.1f 230.75 kilograms of jaggery powder is to be packed equally
in the packets, each packet contains 2.5 kg of jaggery powder.
Find the number of required packets. Also find how much

jaggery powder will be there in 15 packets of mass 2.4 kg.
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